Dl fows .

%N | X%+ c2650)*
/

L < ke )(s28) 1
S280 feet = mile

(0/}5'4""2@75'0« @f)

#/. -
/)

3/ d¢ _ GXS)x) 4 =0
7 S —
J %>+ c2650)"

5 &

—
VX2+ (2640)2

—3

S /x> = 9(XF Bbxo)")

D FER (9 ) R640)"

X = \ (9 )Cap40)> = ((3 ) ( S84/ ‘ﬁ,-é
~

V7

s
Ik

/‘—-'
ﬁiﬁ"{ 2.03. M’"ﬂ

@

2)

(Cx] =& I Xt (240)* * 5[{3J'»2¢F0) |

RN/ AR Trerrr

/ mf )
Sagp feel
2



#2 , T L
2 50
Vs 2 ¢ K x*+a*=sv‘>
y K’-; sz‘ga.
U:‘én (m’-_,dz),g ‘
3] M l-[ R :3"7[(@‘ _ys
dy = SIS 341 =0 1-7")
3yt 5pt = _So
1 ? ‘3»73_- "m
WG Y ()
4y , .
i g TREUEI <o L) b e
P
%3 1) TN\ 351{‘3 2) A Qx.g
"V
) = (4rr)- (X t3)
"/Sw/];;-x* = CATHT
As (-20%47) = =4x >4 1qy
qb
2 A e X ) Check AZ%  ~ndi
¥
AB S L - 2
)(: ) L) /1
L - ° 3 | A
'OLA :\-Q(U:Z') e (l};) Max Lh;ﬂue



#4 .0 x)
X [)s TP
’x 1- 2 :uxz‘a
| | %{Hz-x‘f

V=Txt([2=x*) = J2mx = mx
3) W2y Qolae for X
T T R A O A
>(7K Y= 2% .
§) Cheda 0_‘;‘_)’(511 (2y= 124*)

R 2
= I(zyl)_f:%‘) ) ) \//\ M Uelac

LoV s LB (1= 18Y) =g 636 wit?)




